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Vl Semester B.Com. Examination, September/October 2021
(CBCS) (F+R) (2017 - 18 and Onwards)

COMMERCE
Paper - 6.5 : Elective Paper - lll : Performance Management

(Finance Group)

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be written in English or in Kannada.

SECTION _ A

Sqrorl- a

1. Answer any 5 sub-questions. Each sub-question carries 2 marks. (5x2=10)

o3ndaaddro 5 erDd-ddferi w$orr. {0 wd-$d;i 2 ercdd$.

a) Give the meaning of activity based costing.

duudurd ereDod *afm{d erdr edddo$qdra.

b) What is Break-Even point ?

d$,U.9 Docb aoddeo5 ?a

c) Define standard costing.

ad dafla{dd1aaran O,tr.

d) Give the meaning of Target costing.
rbo dafn{d erfrr edddo$qd^a.

e) What is flexible Budget ?

derd uo$dro$ aoddeo5 ?

f) What is management report ?

&drdma ddo ooddedl ?

g) What do you mean by performance appraisal ?
aol:rd;$d *Ddd aoddeo5 ?

P.T.O.
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SECTION - B
A1rorl_ afAnswer any 3 Ojrfltiqns. Each 

T?:tlon canies 6 marks.obdcoad'a 3 ddJeri erugoi. g! EoJ6 erc+,idr. 
i marks' (3x6=18)

2' state the difference between traditionaf costing-and activity based costing.3 iiil il''l[?i ],?'r;:ffi " sli3: s; il;;ic ;:,n'oq eei
4 ifrfi-,Ti"T;::?:f#ilrr-uction 

or 10,000 units in a ractory isfurnished befow.
Efements of cost
Materials Cost per unit fe
Labour
Variabfe overheads

-2-

70

25

Fixed overheads fi 1,00,000) 
20

variable expenses (direct) 
10

Sefling expenses (1}%fixed) 5
t :

Administration eprepare a prexiofil:::fxt;t"t:fr*"n 
or o,oo5o units and 8,000 units.raanrdoJ: 10'000 .ilo&[,3c wqt'dodl cro**],r darfid; €r dddodosd.dLt addd$b 

qr -ai

mdnlrleb gs oflnoend F)

udennbd abeel dsob 
;x6d abew d#*b G 1,00,000)

udeni.bd s& **tnt, 
10

dnooui d#nb lrOz :64 .|;
eddd deflddc 1ro* 160 

7sdpd d#*b F 5O,OOO xad) 
56,000 o:roourrld tb* A,6OO oiroetir"rld a;etd uo$droJrddl do$ao,$.
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5" Ttp Hfowing information relates to a firm.
$ef,ng price per unit T 100
Variable cost per unit t g0
Fixed cost t 3,00,000
Find out :
a) BEP in units and in amount.
b) Find out seiling price per unit, if BEp is brought down to 4,000 units.
* ddnd dna.gdsb aod: Jo# douofrdo^xd.
dnoaul &Jei de o$oOt^lcri t i OO
udorbd d{de o]lo0urcriT g0
Red d?^*dsb { 9,00,000.

dodrEoBogoO:

a) datl,ge ssocb o:mpu:"ddO_obt dogdO.d
b) t-odc ded dabge oocbddq4,oOo o:moss'rlqri dadb dnacorl dnoaul aJeJ

dod>baogro.
6. Using the following information, calculate :

a) Labour cost variance.
b) Labour rate variance.
c) Labour efficiency variance.

Standard hours - 4,000 hours.
Actual hours - 5,000 hours.
Standard wage rate - t 3 per hour.
Actual wage rate - T 2.5 per hour.
* ddnd dnbsootod

a) $ab dz*ddddob

b) 9* dd ddddob.

c) $dr sadrdrr ddro$ddedodr &Gobo.

ddrErdd doe^idst- 4,000 dorjdsio
aadd douirleb- S,OO0 dop,3rleb

ddrDsdd droO dd- T g de rioujri
EDdd droO dd- T 2.5 $-9 dorirt.
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SECTION - C

sqrorl-,x

Answer any three questions. Each question carries 14 marks. ( 3x14-42)olndoaddro urlJocb ddJeri w$o:r. de ddJ 14 erodrlsb.
t 

,tj,:Jrrdgeted 
overhead and cost driver vorumes of pranav Limited are as

Cost poof Budgeted Cost driver
overhead (T) 

-{"'1 qr.ver Budgeted
votume (T)Material procurement 3,95,000 No. of orders gSOMachine set-up 3,60,000 No. of set-ups 400Maintenance 2,00,000 Maintenance hours 9,100Quafity control 1,60,000 No. of inspection gO0Machinery 4,50,000 No. of machine hours 26,000The company has produced a batch of 2,500 components of ,X,. rts material

,?i:L:ffi:hr:rr,r"ffig rabour cost was { 2,00,000 rn, ,r;iltf activities of
Material order
Setup machines
Maintenance hours
No. of inspection
Machine hours

20

22

560

25

1,500
calcufate cost drive rate that are uggd for computing the appropriate amount
]! fifniiffJ?H:f l:ffi 

J asle rta i n tne cosiot th; batch ;i il;';.m pon ent

;iDdrED $OeO

oJro9 Fiadd

dmd otudc'"d co6i&) dndondd abeel d4d4 daflzo.d dodnea €r #sdodo,d.de^l noldd 
:::.:^*:*o 

ded eoe;d eooEEO dndend
s*r\:,i r 

"l{ 
(T) 

db;rnnn /}rdodrDso (T)
3,95,000

3,60,000

erdeddd do{ 850

400na;ddrld do{
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&drbiDad

$ea$04 &earo3l

o$o$d+1>

Odrdd dot3rlq;b

doced*#rld io{

o$o$dd aoc.t
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2,00,000

1,60,000

4,50,000

3,100

800

26,000

add €i f#odoad.

ndn!flCedenfdc

'cqqdd

dF6H dcu3dq;b

&$dfrtv dcsl.
- { ? )

c$q[sdclcrn B?e

February

Marcfr

April

May

June

75,000

84,000

90,000

1,20,000

1,35,000

45,000

48,000

52,500

60,000

60,000

Wages

9,000

9,750

10,500

13,500

14,250

Expenses

18,000

18,750

20,250

23,820

29,000

dodpo:t z.od> rrdqobO_t ocb dodd 2,500 etodrlsbdo 'X' doa$r dodnOxrd. edd
;odnlrld dqt 1,50,000 d>* droO aDa*r { 2,00,000. erudoJoendex^l.z3uudrfddd

20

22

560

25

1,500

er dodddcC $eer ddd ddddlaedd dndw erudoloendod dafzood ddddl
dod:baooro ai* tir^udr^ld upaod $a$r Dqadooddr dodd doa$r dolnodo$O;J
d{ddldodrbac3Jo.

B. A manufacturing company is expecting to have T 37,500 cash in hand on 1-4-20
and it requested you to prepare a cash budget for 3 months April to June 20.
The following information is supplied to you.

Months Sales (t) Purchases ({)
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Additional information :
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a) Period of credit allowed by supplier two months.

b) 20/" sales are in cash and period of credit allowed to customers for credit
sales is one month.

c) Delay in payment of all expenses one month.

d) f ncome tax { 28,000 is to be paid on '1Sth June 2020.

1-4-2020 dod: dod&o$ a9do4d 9el* T 37,500, agef-aroo" 2020d dd:adg sorld
drl* drodd dgddldo$Dodsr dr ddnd dDb.eddQoedennd.

Sori$ dnoat"i (t)

dgdo 75,ooo

e)oearl+b (T) d,Joo

dnstrr

agef

84,000

90,000

dre 1,20,000

xof 1,35,000

edd dn8oSrlqb:

45,000 9,000

48,000 9,750

52,500 10,500

60,000 13,500

60,000 14,250

dLlrl$b
g{

18,000

18,750

20,250

23,820

28,000

a) {pdrdcodd> odd:8orld;caer udq oea&Ed.

b) dnoat^ld de. 20 ddo" dd& dnoan^i dl.{ ngo?ori rod> Eodd metd cdQ

&ede>nd.

c) doO drQ d?^/;fd aad.godr erodd t-od:8odq;b.

d) rla* qdld t 28,000 ercrEob dorlo$dlaiof 15,2020d drDdo$O-odgiond.
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L Pranav company reports the following information for two years.
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Years Sales

2020 1,50,000

2021 1,70,000

Profit

20,000

25,000

Calculate :

a) PA/ ratio.

b) Fixed cost.

c) Sales to earn Profit of t 40,000.

d) BEP (in amount).

e) Margin of safety at a profit of (Rs.) { 1,25,000.

f) Profit when sales are T 1,80,000.

g) Variable cost tor 2 Years.

drd dodaodr addc aHrderl €r dddod Dddrlddloead.

ddrrlstl

2020

2421

dncnu3

1,50,000

1,70,000

soc

20,000

25,000

dodr8cBobo:

a) e>qj dnoat^l dodneo.

c)

d)

b) xad d?*.

T 40,000 e>eJ deiel s3eondcd dnoau^l doE.

d*:re Dod> doddo.
Q - g ' a

e) saqJ t 1 ,25,000 qcrEJ *ab ilr.9 ercoaao.

0 T 1,80,000 dnoa'ud* u$d e>qJ.

g) addr ddrrleri udorbd dt"Jr.


